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Questionl. (1.5+2.5=4-Points)

A population is normally distributed, with a mean of 8 00 and a standard deviation of 150.Then:

a. What 1s the sampling distribution of the sample mean when selecting a random sample of
size 5 from this population
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b. Find the probability that a random sample of size 16 selected from this population will have a
sampie mean between 780 and 830.
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Question2. (1+3+2=6-Points)
Given a population in which the probability of success is p = 0.40, if a sample of 800 is taken,

and yields 360 success items, then:
a. Find the sampling error. = — 360 - OYS
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b. Find the probability that the proportion of success in the sample is less than 0.44.
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c. Ifthe P (E > pﬂ) =0.0985 find the value of pj,.
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Questionl. (1.5+2.5=4-Points)

A population is normally distributed, with a mean of 750 and a standard deviation of 120. Jhen:

a. What is the sampling distribution of the sample mean when selecting a random sample of
size 7 from this population
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b. Find the probability that a random sample of size 9 selected from this population will have a
sample mean between 730 and 780.
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Question2. (1+3+2=6-Points)

Given a population in which the probability of success is p = 0.35, if a sample of 800 is taken,
and yields 296 success items, then:
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a. Find the sampling error. F = . 3_,% .= oo = 033 } @
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b. Find the probability that the proportion of success in the sample 1s more than 0.38.
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c. Ifthe P (}_7 > Do ) = (0.0985 find the value of py;.
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